Geometry Section 4.4

Section 4.4: Prove Triangles Congruent by SAS and HL
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Consider a relationship involving two sides and the angle they form, their
included angle. To picture the relationship, form an angle using two pencils.
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1) Draw triangle with sides 2 inches, 8.5 cm,

and the included angle of 65 degrees.
2) Cut out triangle ABC...compare with
others.



Geometry

Does a Side-Angle-Side Congruence pattern
guarantee two congruent triangles?

Postulate 20: Side-Angle-Side Congruence Postulate (SA’S

If two sides and the included angle of one triangle are congruent
to__two Sides 0Nk neluded OU\{\\Q, ofa g
second triangle, then the two triangles are QOM( \)eﬂ"'

X&wy 2EYLH
X Y H

otene 1eg Congruence heseem (43

If the hypotenuse and a leg of one right triangle are
congruent to the »W\'D and \Q"\ ofa

second triangle, then the two trlangles are QE‘Q
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A3. Why is ASMR = APMQ? s
(Mis the center of the circle)
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A4. State the third congruence that must be

given to prove AJRM = ADFB. R £
a. JR = DF, b. MR = BF,
JM = DB, ¢] isarightangle, =~
Y =414D 4] =~ yDE—C kL
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A5. Decide if there is enough information to prove that the two triangles
are congruent. If there is, give a congruence statement for the

triangles and the reason(s) for the congruence. 5 E
M
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A6. Given: CB | FE, AC = DF, BC = 2<5,and EF = 10
Prove: AABC =~ ADEF 10 . i
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